# ARIZONA DEPARTMENT OF TRANSPORTATION INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION CONTRACTS AND SPECIFICATIONS SECTION

# **TABULATION OF BIDS**

### **CONTRACT # 2022063**

TRACS N	lo.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
0000 MA GLN	T011901C	GLN-0(259)T	100923	MARICOPA	CENTRAL	0		Jalal Kamal
0000 MA GLN	T031101C	GLN-0-(264)T	101821	MARICOPA	CENTRAL	0		Jalal Kamal

Highway Termini	Location	Work Description
• CITY OF GLENDALE	•VARIOUS LOCATIONS	•CONSTRUCT FLASHING YELLOW ARROWS
CITY OF GLENDALE	Palmair Ave-46th Ave-Bethany H	Central Core Sidewalk Closures

#### Printed: 7/25/2025 Page 1 of 17

### **BID RESULTS FOR 2022063**

Bid Opening Date: 6/6/2025, Prequalification Required, Engineer Specialist: Jalal Kamal

#### **Completion Date:**

#### 278 Calendar Days

The proposed project, T031101C is located in Maricopa County within the City of Glendale along multiple streets bounded by W. Palmaire Ave, on the north, Bethany Home Rd on the south, Grande Avenue on the west, and 46th Avenue on the east. The work consists of filling the gaps of missing sidewalk by constructing new concrete sidewalk, curb and gutter, and curb ramps. The work also includes upgrading driveway entrances, installing new street light poles and luminaires, and other related work.

The proposed project T011901C is located in Maricopa County within the City of Glendale at various locations. The work consists of constructing and installing traffic signal improvements for flashing yellow arrows, installing retro-reflective tape on signal heads, signing, and other related work.

Bid Rank	Compared To Department Estimat (	Option # Bid Amount	Contractor	Extended Sum of Items
	+%	\$4,098,746.70	DEPARTMENT ESTIMATE	\$4,098,746.70
1	+25.9%	\$5,159,093.85	WILLIAM CHARLES CONSTRUCTION COMPANY, LLC 8767 E. VIA DE VENTRUA, SUITE 300 SCOTTSDALE, AZ 85258-	\$5,159,093.85
2	+31.4%	\$5,387,383.50	COMBS CONSTRUCTION COMPANY, INC. 1903 WEST PARKSIDE LANE, SUITE #100 GLENDALE, AZ 85027-	\$5,387,383.50
3	+43.1%	\$5,865,409.80	D B A CONSTRUCTION INC. P.O. BOX 63035 PHOENIX, AZ 85082-3035	\$5,865,409.80
4	+53.0%	\$6,269,568.00	GRANITE CONSTRUCTION COMPANY 4115 E ILLINOIS ST TUCSON, AZ 85714-	\$6,269,568.00

Winning Bidder is 25.9% Over Department Estimate (Difference = \$1,060,347.15)

### Printed: 7/25/2025 Page 2 of 17

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2010020	EACH	REMOVAL OF TREES				
Bid Rank	Department	Estimate	3.000	\$3,500.000	\$10,500.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, LLC		\$2,608.000	\$7,824.00	-25.5%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$12,000.000	\$36,000.00	+242.9%
3	D B A CON	STRUCTION INC.		\$4,200.000	\$12,600.00	+20.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$11,000.000	\$33,000.00	+214.3%
2020021	L.FT.	REMOVAL OF CONCRETE CURB AND G	UTTER			
Bid Rank	Department	Estimate	4,585.000	\$8.000	\$36,680.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, LLC		\$18.850	\$86,427.25	+135.6%
2	COMBS CC	NSTRUCTION COMPANY, INC.		\$24.000	\$110,040.00	+200.0%
3	D B A CON	STRUCTION INC.		\$9.000	\$41,265.00	+12.5%
4	GRANITE C	CONSTRUCTION COMPANY		\$13.500	\$61,897.50	+68.8%
2020025	SQ.FT.	REMOVAL OF CONCRETE SIDEWALKS,	DRIVEWAYS AN	ID SLABS		
Bid Rank	Department	Estimate	8,173.000	\$6.000	\$49,038.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, LLC		\$5.600	\$45,768.80	-6.7%
2	COMBS CC	NSTRUCTION COMPANY, INC.		\$11.000	\$89,903.00	+83.3%
3	D B A CON	STRUCTION INC.		\$6.000	\$49,038.00	+0.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$18.300	\$149,565.90	+205.0%
2020036	SQ.YD.	REMOVAL OF ASPHALTIC CONCRETE P	AVEMENT			
Bid Rank	Department	Estimate	3,795.000	\$15.000	\$56,925.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, LLC		\$24.600	\$93,357.00	+64.0%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$17.000	\$64,515.00	+13.3%
3	D B A CON	STRUCTION INC.		\$32.000	\$121,440.00	+113.3%
4	GRANITE C	CONSTRUCTION COMPANY		\$26.000	\$98,670.00	+73.3%
2020047	EACH	REMOVAL OF SIGNS				
Bid Rank	Department	Estimate	12.000	\$500.000	\$6,000.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, LLC		\$485.100	\$5,821.20	-3.0%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$300.000	\$3,600.00	-40.0%
3	D B A CON	STRUCTION INC.		\$850.000	\$10,200.00	+70.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$500.000	\$6,000.00	+0.0%
2020053	EACH	REMOVE (TOP OF EXISTING OF THE SI	GNAL POLE FOL	JNDATION)		
Bid Rank	Department	Estimate	10.000	\$2,000.000	\$20,000.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, LLC		\$2,574.000	\$25,740.00	+28.7%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$2,000.000	\$20,000.00	+0.0%
3	D B A CON	STRUCTION INC.		\$1,900.000	\$19,000.00	-5.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$3,000.000	\$30,000.00	+50.0%
2020061	EACH	REMOVE AND RELOCATE MAIL BOXES				
Bid Rank	Department	Estimate	3.000	\$1,000.000	\$3,000.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, LLC		\$1,599.000	\$4,797.00	+59.9%

### Printed: 7/25/2025 Page 3 of 17

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020061	EACH	REMOVE AND RELOCATE MAIL BOXES				
Bid Rank	Department	Estimate	3.000	\$1,000.000	\$3,000.00	
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$500.000	\$1,500.00	-50.0%
3	D B A CONS	STRUCTION INC.		\$730.000	\$2,190.00	-27.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$1,000.000	\$3,000.00	+0.0%
2020101	L.FT.	REMOVE FENCE				
Bid Rank	Department	Estimate	432.000	\$12.000	\$5,184.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$30.500	\$13,176.00	+154.2%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$12.000	\$5,184.00	+0.0%
3	D B A CONS	STRUCTION INC.		\$20.000	\$8,640.00	+66.7%
4	GRANITE C	CONSTRUCTION COMPANY		\$16.500	\$7,128.00	+37.5%
2020115	EACH	REMOVE (PULL BOX)				
Bid Rank	Department	Estimate	20.000	\$300.000	\$6,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$663.200	\$13,264.00	+121.1%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$400.000	\$8,000.00	+33.3%
3	D B A CONS	STRUCTION INC.		\$196.000	\$3,920.00	-34.7%
4	GRANITE C	CONSTRUCTION COMPANY		\$400.000	\$8,000.00	+33.3%
2020116	EACH	REMOVE (PEDESTRIAN PUSH BUTTON	POLE FOUNDAT	ION)		
Bid Rank	Department	Estimate	1.000	\$505.200	\$505.20	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$663.200	\$663.20	+31.3%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$525.000	\$525.00	+3.9%
3	D B A CONS	STRUCTION INC.		\$1,900.000	\$1,900.00	+276.1%
4	GRANITE C	CONSTRUCTION COMPANY		\$2,600.000	\$2,600.00	+414.6%
2020122	L.FT.	REMOVE (WHEEL STOP)				
Bid Rank	Department	Estimate	20.000	\$25.000	\$500.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$51.200	\$1,024.00	+104.8%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$20.000	\$400.00	-20.0%
3	D B A CONS	STRUCTION INC.		\$95.000	\$1,900.00	+280.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$75.000	\$1,500.00	+200.0%
2020162	SQ.YD.	REMOVE (CONCRETE BLOCK WALL)				
Bid Rank	Department	Estimate	65.000	\$265.000	\$17,225.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$95.300	\$6,194.50	-64.0%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$75.000	\$4,875.00	-71.7%
3	D B A CONS	STRUCTION INC.		\$70.000	\$4,550.00	-73.6%
4	GRANITE C	CONSTRUCTION COMPANY		\$400.000	\$26,000.00	+50.9%
2020173	EACH	REMOVE (LIGHT POLES)				
Bid Rank	Department	Estimate	17.000	\$950.000	\$16,150.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$1,710.000	\$29,070.00	+80.0%
2		INSTRUCTION COMPANY, INC.		\$800.000	\$13,600.00	-15.8%

### Printed: 7/25/2025 Page 4 of 17

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020173	EACH	REMOVE (LIGHT POLES)				
Bid Rank	Department	Estimate	17.000	\$950.000	\$16,150.00	
3	D B A CONS	STRUCTION INC.		\$2,100.000	\$35,700.00	+121.1%
4	GRANITE C	ONSTRUCTION COMPANY		\$1,500.000	\$25,500.00	+57.9%
2030301	CU.YD.	ROADWAY EXCAVATION				
Bid Rank	Department	Estimate	638.000	\$150.000	\$95,700.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$135.900	\$86,704.20	-9.4%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$800.000	\$510,400.00	+433.3%
3	D B A CONS	STRUCTION INC.		\$110.000	\$70,180.00	-26.7%
4	GRANITE C	ONSTRUCTION COMPANY		\$421.000	\$268,598.00	+180.7%
3030022	CU.YD.	AGGREGATE BASE, CLASS 2				
Bid Rank	Department	Estimate	638.000	\$125.000	\$79,750.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$186.300	\$118,859.40	+49.0%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$190.000	\$121,220.00	+52.0%
3	D B A CONS	STRUCTION INC.		\$190.000	\$121,220.00	+52.0%
4	GRANITE C	ONSTRUCTION COMPANY		\$160.000	\$102,080.00	+28.0%
4090003	TON	ASPHALTIC CONCRETE (MISCELLANEO	US STRUCTURAL	)		
Bid Rank	Department	Estimate	583.000	\$345.000	\$201,135.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$316.000	\$184,228.00	-8.4%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$275.000	\$160,325.00	-20.3%
3	D B A CONS	STRUCTION INC.		\$345.000	\$201,135.00	+0.0%
4	GRANITE C	ONSTRUCTION COMPANY		\$220.000	\$128,260.00	-36.2%
6080005	SQ.FT.	REGULATORY, WARNING, OR MARKER	SIGN PANEL			
Bid Rank	Department	Estimate	270.000	\$45.000	\$12,150.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$45.300	\$12,231.00	+0.7%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$30.000	\$8,100.00	-33.3%
3	D B A CONS	STRUCTION INC.		\$140.000	\$37,800.00	+211.1%
4	GRANITE C	ONSTRUCTION COMPANY		\$118.000	\$31,860.00	+162.2%
6080110	EACH	REMOVE AND REINSTALL SIGN				
Bid Rank	Department	Estimate	17.000	\$500.000	\$8,500.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$620.700	\$10,551.90	+24.1%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$450.000	\$7,650.00	-10.0%
3	D B A CONS	STRUCTION INC.		\$1,800.000	\$30,600.00	+260.0%
4	GRANITE C	ONSTRUCTION COMPANY		\$800.000	\$13,600.00	+60.0%
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VERT.PAN	IEL, TUBULAR MAI	RKER)		
Bid Rank	Department	Estimate	7,478.000	\$0.650	\$4,860.70	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$0.250	\$1,869.50	-61.5%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$1.000	\$7,478.00	+53.8%
3	D B A CONS	STRUCTION INC.		\$6.000	\$44,868.00	+823.1%

### Printed: 7/25/2025 Page 5 of 17

ltem Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
7016030	EACH-DAY BARRICADE (TYPE 1, TYPE 2, VI	ERT.PANEL, TUBULAR MA	RKER)			
Bid Rank	Department Estimate	7,478.000	\$0.650	\$4,860.70		
4	GRANITE CONSTRUCTION COMPANY		\$0.300	\$2,243.40	-53.8%	
7016031	EACH-DAY BARRICADE (TYPE 3, HIGH LEVI	EL FLAG TREE)				
Bid Rank	Department Estimate	294.000	\$1.500	\$441.00		
1	WILLIAM CHARLES CONSTRUCTION COMPAN	Y, LLC	\$0.750	\$220.50	-50.0%	
2	COMBS CONSTRUCTION COMPANY, INC.		\$3.000	\$882.00	+100.0%	
3	D B A CONSTRUCTION INC.		\$20.000	\$5,880.00	+1233.3%	
4	GRANITE CONSTRUCTION COMPANY		\$0.900	\$264.60	-40.0%	
7016032	EACH-DAY PORTABLE SIGN STAND (RIGID)					
Bid Rank	Department Estimate	2,322.000	\$0.650	\$1,509.30		
1	WILLIAM CHARLES CONSTRUCTION COMPAN	Y, LLC	\$0.600	\$1,393.20	-7.7%	
2	COMBS CONSTRUCTION COMPANY, INC.		\$1.050	\$2,438.10	+61.5%	
3	D B A CONSTRUCTION INC.		\$9.000	\$20,898.00	+1284.6%	
4	GRANITE CONSTRUCTION COMPANY		\$0.720	\$1,671.84	+10.8%	
7016033	EACH-DAY PORTABLE SIGN STAND (SPRIN	G TYPE)				
Bid Rank	Department Estimate	592.000	\$3.500	\$2,072.00		
1	WILLIAM CHARLES CONSTRUCTION COMPAN	Y, LLC	\$0.850	\$503.20	<b>-</b> 75.7%	
2	COMBS CONSTRUCTION COMPANY, INC.		\$2.500	\$1,480.00	-28.6%	
3	D B A CONSTRUCTION INC.		\$32.000	\$18,944.00	+814.3%	
4	GRANITE CONSTRUCTION COMPANY		\$1.050	\$621.60	-70.0%	
7016035	EACH-DAY WARNING LIGHT (TYPE A)					
Bid Rank	Department Estimate	1,134.000	\$0.750	\$850.50		
1	WILLIAM CHARLES CONSTRUCTION COMPAN	Y, LLC	\$0.150	\$170.10	-80.0%	
2	COMBS CONSTRUCTION COMPANY, INC.		\$1.000	\$1,134.00	+33.3%	
3	D B A CONSTRUCTION INC.		\$6.600	\$7,484.40	+780.0%	
4	GRANITE CONSTRUCTION COMPANY		\$0.200	\$226.80	-73.3%	
7016036	EACH-DAY WARNING LIGHT (TYPE B)					
Bid Rank	Department Estimate	1,080.000	\$0.750	\$810.00		
1	WILLIAM CHARLES CONSTRUCTION COMPAN	Y, LLC	\$0.200	\$216.00	-73.3%	
2	COMBS CONSTRUCTION COMPANY, INC.		\$1.000	\$1,080.00	+33.3%	
3	D B A CONSTRUCTION INC.		\$24.000	\$25,920.00	+3100.0%	
4	GRANITE CONSTRUCTION COMPANY		\$0.250	\$270.00	-66.7%	
7016037	EACH-DAY WARNING LIGHT (TYPE C)					
Bid Rank	Department Estimate	6,156.000	\$0.750	\$4,617.00		
1	WILLIAM CHARLES CONSTRUCTION COMPAN	Y, LLC	\$0.200	\$1,231.20	-73.3%	
2	COMBS CONSTRUCTION COMPANY, INC.		\$1.000	\$6,156.00	+33.3%	
3	D B A CONSTRUCTION INC.		\$6.600	\$40,629.60	+780.0%	

# Printed: 7/25/2025 Page 6 of 17

ltem Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016037	EACH-DAY WARNING LIGHT (TYPE C)				
Bid Rank	Department Estimate	6,156.000	\$0.750	\$4,617.00	
4	GRANITE CONSTRUCTION COMPANY		\$0.220	\$1,354.32	-70.7%
7016051	EACH-DAY TEMPORARY SIGN (LESS THAN 10 S	S.F.)			
Bid Rank	Department Estimate	3,212.000	\$1.000	\$3,212.00	
1	WILLIAM CHARLES CONSTRUCTION COMPANY, LI	_C	\$0.600	\$1,927.20	-40.0%
2	COMBS CONSTRUCTION COMPANY, INC.		\$1.000	\$3,212.00	+0.0%
3	D B A CONSTRUCTION INC.		\$7.400	\$23,768.80	+640.0%
4	GRANITE CONSTRUCTION COMPANY		\$0.720	\$2,312.64	-28.0%
7016052	EACH-DAY TEMPORARY SIGN (10 S.F. OR MOR	E)			
Bid Rank	Department Estimate	108.000	\$3.000	\$324.00	
1	WILLIAM CHARLES CONSTRUCTION COMPANY, LI	_C	\$0.750	\$81.00	-75.0%
2	COMBS CONSTRUCTION COMPANY, INC.		\$1.000	\$108.00	-66.7%
3	D B A CONSTRUCTION INC.		\$10.000	\$1,080.00	+233.3%
4	GRANITE CONSTRUCTION COMPANY		\$0.900	\$97.20	-70.0%
7016061	EACH-DAY FLASHING ARROW PANEL				
Bid Rank	Department Estimate	148.000	\$45.000	\$6,660.00	
1	WILLIAM CHARLES CONSTRUCTION COMPANY, LI	_C	\$67.050	\$9,923.40	+49.0%
2	COMBS CONSTRUCTION COMPANY, INC.		\$55.000	\$8,140.00	+22.2%
3	D B A CONSTRUCTION INC.		\$70.000	\$10,360.00	+55.6%
4	GRANITE CONSTRUCTION COMPANY		\$21.000	\$3,108.00	-53.3%
7016067	EACH-DAY CHANGEABLE MESSAGE BOARD (C	ONTRACTOR FURNIS	SHED)		
Bid Rank	Department Estimate	252.000	\$65.000	\$16,380.00	
1	WILLIAM CHARLES CONSTRUCTION COMPANY, LI	_C	\$51.550	\$12,990.60	-20.7%
2	COMBS CONSTRUCTION COMPANY, INC.		\$75.000	\$18,900.00	+15.4%
3	D B A CONSTRUCTION INC.		\$95.000	\$23,940.00	+46.2%
4	GRANITE CONSTRUCTION COMPANY		\$27.000	\$6,804.00	-58.5%
7016079	HOUR FLAGGING SERVICES (UNIFORMED	OFFICER)			
Bid Rank	Department Estimate	1,170.000	\$100.000	\$117,000.00	
1	WILLIAM CHARLES CONSTRUCTION COMPANY, LI	_C	\$110.800	\$129,636.00	+10.8%
2	COMBS CONSTRUCTION COMPANY, INC.		\$96.000	\$112,320.00	-4.0%
3	D B A CONSTRUCTION INC.		\$120.000	\$140,400.00	+20.0%
4	GRANITE CONSTRUCTION COMPANY		\$116.000	\$135,720.00	+16.0%
7310011	EACH POLE (TYPE A) (COG T5-15)				
Bid Rank	Department Estimate	1.000	\$2,500.000	\$2,500.00	
1	WILLIAM CHARLES CONSTRUCTION COMPANY, LI	_C	\$4,030.000	\$4,030.00	+61.2%
2	COMBS CONSTRUCTION COMPANY, INC.		\$3,700.000	\$3,700.00	+48.0%
3	D B A CONSTRUCTION INC.		\$4,480.000	\$4,480.00	+79.2%

# Printed: 7/25/2025 Page 7 of 17

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7310011	EACH	POLE (TYPE A) (COG T5-15)				
Bid Rank	Department	Estimate	1.000	\$2,500.000	\$2,500.00	
4	GRANITE C	CONSTRUCTION COMPANY		\$2,700.000	\$2,700.00	+8.0%
7310187	EACH	POLE (SPECIAL) (MASTARM, LUMINAIR	E & PHOTP CON	TROL)		
Bid Rank	Department	Estimate	17.000	\$6,500.000	\$110,500.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$8,208.000	\$139,536.00	+26.3%
2		INSTRUCTION COMPANY, INC.		\$5,600.000	\$95,200.00	-13.8%
3	D B A CONS	STRUCTION INC.		\$11,320.000	\$192,440.00	+74.2%
4	GRANITE C	CONSTRUCTION COMPANY		\$8,000.000	\$136,000.00	+23.1%
7310190	EACH	POLE (TYPE-R) (CITY OF PEORIA POLE	, PE-038)			
Bid Rank	Department	Estimate	1.000	\$22,000.000	\$22,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$46,500.000	\$46,500.00	+111.4%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$35,000.000	\$35,000.00	+59.1%
3	D B A CONS	STRUCTION INC.		\$35,400.000	\$35,400.00	+60.9%
4	GRANITE C	CONSTRUCTION COMPANY		\$24,000.000	\$24,000.00	+9.1%
7310191	EACH	POLE (SPECIAL) (SIGNAL POLE TYPE C	(116)			
Bid Rank	Department	Estimate	7.000	\$15,000.000	\$105,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$19,850.000	\$138,950.00	+32.3%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$15,000.000	\$105,000.00	+0.0%
3	D B A CONS	STRUCTION INC.		\$19,400.000	\$135,800.00	+29.3%
4	GRANITE C	CONSTRUCTION COMPANY		\$14,000.000	\$98,000.00	-6.7%
7310192	EACH	POLE (SPECIAL) (SIGNAL POLE TYPE C	(114)			
Bid Rank	Department	Estimate	3.000	\$15,000.000	\$45,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$25,162.000	\$75,486.00	+67.7%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$14,000.000	\$42,000.00	-6.7%
3	D B A CONS	STRUCTION INC.		\$14,500.000	\$43,500.00	-3.3%
4	GRANITE C	CONSTRUCTION COMPANY		\$14,000.000	\$42,000.00	-6.7%
7310371	EACH	POLE FOUNDATION (FOR CITY OF PEO	RIA TYPE-R POL	.E, PE-037)		
Bid Rank	Department	Estimate	1.000	\$10,000.000	\$10,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$14,972.000	\$14,972.00	+49.7%
2	COMBS CC	NSTRUCTION COMPANY, INC.		\$10,000.000	\$10,000.00	+0.0%
3	D B A CONS	STRUCTION INC.		\$24,700.000	\$24,700.00	+147.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$19,000.000	\$19,000.00	+90.0%
7310372	EACH	POLE FOUNDATION (FOR COG Q SIGNA	AL POLES )			
Bid Rank	Department	Estimate	9.000	\$7,000.000	\$63,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$8,598.000	\$77,382.00	+22.8%
2	COMBS CC	NSTRUCTION COMPANY, INC.		\$7,000.000	\$63,000.00	+0.0%
3	D B A CONS	STRUCTION INC.		\$20,520.000	\$184,680.00	+193.1%

### Printed: 7/25/2025 Page 8 of 17

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7310372	EACH	POLE FOUNDATION (FOR COG Q SIGNA	AL POLES )			
Bid Rank	Department	: Estimate	9.000	\$7,000.000	\$63,000.00	
4	GRANITE C	CONSTRUCTION COMPANY		\$19,000.000	\$171,000.00	+171.4%
7310373	EACH	POLE FOUNDATION (FOR COG TYPE A	SIGNAL POLE)			
Bid Rank	Department	Estimate	1.000	\$2,000.000	\$2,000.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, LLC		\$2,469.000	\$2,469.00	+23.5%
2	COMBS CC	DNSTRUCTION COMPANY, INC.		\$6,200.000	\$6,200.00	+210.0%
3	D B A CON	STRUCTION INC.		\$3,580.000	\$3,580.00	+79.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$4,200.000	\$4,200.00	+110.0%
7310580	EACH	MAST ARM (35 FT.) (STRAIGHT OR TAPE	ERED)			
Bid Rank	Department	Estimate	1.000	\$7,000.000	\$7,000.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, LLC		\$10,196.000	\$10,196.00	+45.7%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$10,000.000	\$10,000.00	+42.9%
3	D B A CON	STRUCTION INC.		\$10,300.000	\$10,300.00	+47.1%
4	GRANITE C	CONSTRUCTION COMPANY		\$5,500.000	\$5,500.00	-21.4%
7310590	EACH	MAST ARM (40 FT.) (STRAIGHT OR TAPE	ERED)			
Bid Rank	Department	Estimate	1.000	\$8,000.000	\$8,000.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, LLC		\$13,619.000	\$13,619.00	+70.2%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$10,500.000	\$10,500.00	+31.3%
3	D B A CON	STRUCTION INC.		\$12,390.000	\$12,390.00	+54.9%
4	GRANITE C	CONSTRUCTION COMPANY		\$8,000.000	\$8,000.00	+0.0%
7310600	EACH	MAST ARM (45 FT.) (STRAIGHT OR TAPE	ERED)			
Bid Rank	Department	Estimate	3.000	\$9,000.000	\$27,000.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, LLC		\$13,796.000	\$41,388.00	+53.3%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$11,500.000	\$34,500.00	+27.8%
3	D B A CON	STRUCTION INC.		\$15,700.000	\$47,100.00	+74.4%
4	GRANITE C	CONSTRUCTION COMPANY		\$9,000.000	\$27,000.00	+0.0%
7310610	EACH	MAST ARM (50 FT.) (STRAIGHT OR TAPE	ERED)			
Bid Rank	Department	Estimate	6.000	\$10,000.000	\$60,000.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, LLC		\$16,674.000	\$100,044.00	+66.7%
2	COMBS CC	DNSTRUCTION COMPANY, INC.		\$12,000.000	\$72,000.00	+20.0%
3	D B A CON	STRUCTION INC.		\$19,100.000	\$114,600.00	+91.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$10,000.000	\$60,000.00	+0.0%
7310620	EACH	MAST ARM (55 FT.) (STRAIGHT OR TAPE	ERED)			
Bid Rank	Department	Estimate	5.000	\$12,000.000	\$60,000.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, LLC		\$19,713.000	\$98,565.00	+64.3%
2	COMBS CC	DNSTRUCTION COMPANY, INC.		\$17,500.000	\$87,500.00	+45.8%
3	D B A CON	STRUCTION INC.		\$23,400.000	\$117,000.00	+95.0%

### Printed: 7/25/2025 Page 9 of 17

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7310620	EACH	MAST ARM (55 FT.) (STRAIGHT OR TAPE	RED)			
Bid Rank	Department	Estimate	5.000	\$12,000.000	\$60,000.00	
4	GRANITE C	CONSTRUCTION COMPANY		\$12,000.000	\$60,000.00	+0.0%
7310650	EACH	MAST ARM (COG LUMINAIRE MAST ARM	I, LENGTH-12', F	RISE - 8')		
Bid Rank	Department	Estimate	17.000	\$3,000.000	\$51,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$2,116.000	\$35,972.00	-29.5%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$2,500.000	\$42,500.00	-16.7%
3	D B A CONS	STRUCTION INC.		\$3,100.000	\$52,700.00	+3.3%
4	GRANITE C	CONSTRUCTION COMPANY		\$1,200.000	\$20,400.00	-60.0%
7310652	EACH	MAST ARM (CITY OF PEORIA 65 FT, TAP	ERED)			
Bid Rank	Department	Estimate	1.000	\$16,000.000	\$16,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$26,575.000	\$26,575.00	+66.1%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$27,000.000	\$27,000.00	+68.8%
3	D B A CONS	STRUCTION INC.		\$29,410.000	\$29,410.00	+83.8%
4	GRANITE C	CONSTRUCTION COMPANY		\$15,000.000	\$15,000.00	-6.3%
7320050	L.FT.	ELECTRICAL CONDUIT (2") (PVC)				
Bid Rank	Department	Estimate	50.000	\$60.000	\$3,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$37.600	\$1,880.00	-37.3%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$40.000	\$2,000.00	-33.3%
3	D B A CONS	STRUCTION INC.		\$104.000	\$5,200.00	+73.3%
4	GRANITE C	CONSTRUCTION COMPANY		\$95.000	\$4,750.00	+58.3%
7320070	L.FT.	ELECTRICAL CONDUIT (3") (PVC)				
Bid Rank	Department	Estimate	218.000	\$50.000	\$10,900.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$49.550	\$10,801.90	-0.9%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$28.000	\$6,104.00	-44.0%
3	D B A CONS	STRUCTION INC.		\$170.000	\$37,060.00	+240.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$95.000	\$20,710.00	+90.0%
7320071	L.FT.	ELECTRICAL CONDUIT (3") (PVC) (HORI	ZONTAL DIRECT	IONAL DRILLED)		
Bid Rank	Department	Estimate	82.000	\$100.000	\$8,200.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$272.900	\$22,377.80	+172.9%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$75.000	\$6,150.00	-25.0%
3	D B A CONS	STRUCTION INC.		\$130.000	\$10,660.00	+30.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$200.000	\$16,400.00	+100.0%
7320291	L.FT.	ELECTRICAL CONDUIT (4")(PVC)(HORIZ	ONTAL DIRECTION	ONAL DRILLED)		
Bid Rank	Department	Estimate	1,320.000	\$85.000	\$112,200.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$178.600	\$235,752.00	+110.1%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$105.000	\$138,600.00	+23.5%
3	D B A CONS	STRUCTION INC.		\$104.000	\$137,280.00	+22.4%

# Printed: 7/25/2025 Page 10 of 17

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7320291	L.FT.	ELECTRICAL CONDUIT (4")(PVC)(HORIZ	ONTAL DIRECTIO	NAL DRILLED)		
Bid Rank	Department	Estimate	1,320.000	\$85.000	\$112,200.00	
4	GRANITE C	ONSTRUCTION COMPANY		\$155.000	\$204,600.00	+82.4%
7320420	EACH	PULL BOX (NO. 7)				
Bid Rank	Department	Estimate	21.000	\$2,000.000	\$42,000.00	
1	WILLIAM CH	HARLES CONSTRUCTION COMPANY, LLC		\$4,170.000	\$87,570.00	+108.5%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$2,600.000	\$54,600.00	+30.0%
3	D B A CONS	STRUCTION INC.		\$2,190.000	\$45,990.00	+9.5%
4	GRANITE C	ONSTRUCTION COMPANY		\$4,200.000	\$88,200.00	+110.0%
7330031	EACH	TRAFFIC SIGNAL (FYA - FLASHING YELL	OW ARROW SIG	NAL FACE)		
Bid Rank	Department	Estimate	73.000	\$1,100.000	\$80,300.00	
1	WILLIAM CH	HARLES CONSTRUCTION COMPANY, LLC		\$2,078.000	\$151,694.00	+88.9%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$1,800.000	\$131,400.00	+63.6%
3	D B A CONS	STRUCTION INC.		\$1,490.000	\$108,770.00	+35.5%
4	GRANITE C	ONSTRUCTION COMPANY		\$1,800.000	\$131,400.00	+63.6%
7330060	EACH	TRAFFIC SIGNAL FACE (TYPE F)				
Bid Rank	Department	Estimate	7.000	\$1,100.000	\$7,700.00	
1	WILLIAM CH	HARLES CONSTRUCTION COMPANY, LLC		\$1,721.000	\$12,047.00	+56.5%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$1,600.000	\$11,200.00	+45.5%
3	D B A CONS	STRUCTION INC.		\$1,125.000	\$7,875.00	+2.3%
4	GRANITE C	ONSTRUCTION COMPANY		\$1,500.000	\$10,500.00	+36.4%
7330220	EACH	PEDESTRIAN PUSH BUTTON				
Bid Rank	Department	Estimate	2.000	\$2,500.000	\$5,000.00	
1	WILLIAM CH	HARLES CONSTRUCTION COMPANY, LLC		\$3,819.000	\$7,638.00	+52.8%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$2,100.000	\$4,200.00	-16.0%
3	D B A CONS	STRUCTION INC.		\$1,682.000	\$3,364.00	-32.7%
4	GRANITE C	ONSTRUCTION COMPANY		\$1,800.000	\$3,600.00	-28.0%
7330310	EACH	TRAFFIC SIGNAL MOUNTING ASSEMBL	Y (TYPE II)			
Bid Rank	Department	Estimate	2.000	\$600.000	\$1,200.00	
1	WILLIAM CH	HARLES CONSTRUCTION COMPANY, LLC		\$507.000	\$1,014.00	-15.5%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$400.000	\$800.00	-33.3%
3	D B A CONS	STRUCTION INC.		\$482.000	\$964.00	-19.7%
4	GRANITE C	ONSTRUCTION COMPANY		\$700.000	\$1,400.00	+16.7%
7330330	EACH	TRAFFIC SIGNAL MOUNTING ASSEMBL	Y (TYPE IV)			
Bid Rank	Department	Estimate	1.000	\$800.000	\$800.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$1,347.000	\$1,347.00	+68.4%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$1,600.000	\$1,600.00	+100.0%
3	D B A CONS	STRUCTION INC.		\$936.000	\$936.00	+17.0%

### Printed: 7/25/2025 Page 11 of 17

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7330330	EACH	TRAFFIC SIGNAL MOUNTING ASSEMBLY	Y (TYPE IV)			
Bid Rank	Department	Estimate	1.000	\$800.000	\$800.00	
4	GRANITE C	CONSTRUCTION COMPANY		\$1,400.000	\$1,400.00	+75.0%
7330340	EACH	TRAFFIC SIGNAL MOUNTING ASSEMBL	Y (TYPE V)			
Bid Rank	Department	Estimate	23.000	\$750.000	\$17,250.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$1,196.000	\$27,508.00	+59.5%
2	COMBS CC	NSTRUCTION COMPANY, INC.		\$1,000.000	\$23,000.00	+33.3%
3	D B A CONS	STRUCTION INC.		\$855.000	\$19,665.00	+14.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$1,200.000	\$27,600.00	+60.0%
7330360	EACH	TRAFFIC SIGNAL MOUNTING ASSEMBLY	Y (TYPE VII)			
Bid Rank	Department	Estimate	15.000	\$900.000	\$13,500.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$1,306.000	\$19,590.00	+45.1%
2	COMBS CC	NSTRUCTION COMPANY, INC.		\$1,500.000	\$22,500.00	+66.7%
3	D B A CONS	STRUCTION INC.		\$936.000	\$14,040.00	+4.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$1,500.000	\$22,500.00	+66.7%
7340010	EACH	CONTROL CABINET (TYPE I)				
Bid Rank	Department	Estimate	1.000	\$35,000.000	\$35,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$99,037.000	\$99,037.00	+183.0%
2	COMBS CC	NSTRUCTION COMPANY, INC.		\$50,000.000	\$50,000.00	+42.9%
3	D B A CONS	STRUCTION INC.		\$68,200.000	\$68,200.00	+94.9%
4	GRANITE C	CONSTRUCTION COMPANY		\$47,000.000	\$47,000.00	+34.3%
7360050	EACH	LUMINAIRE (HORIZONTAL MOUNT) (HPS	S 400 WATT)			
Bid Rank	Department	Estimate	13.000	\$1,500.000	\$19,500.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$1,338.000	\$17,394.00	-10.8%
2	COMBS CC	NSTRUCTION COMPANY, INC.		\$825.000	\$10,725.00	-45.0%
3	D B A CONS	STRUCTION INC.		\$1,045.000	\$13,585.00	-30.3%
4	GRANITE C	CONSTRUCTION COMPANY		\$800.000	\$10,400.00	-46.7%
7370410	L.SUM	ELECTRICAL SYSTEM (REMOVE AND R	EINSTALL POLE	S AND OTHER EQUIP	PMENT)	
Bid Rank	Department	Estimate	1.000	\$70,000.000	\$70,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$275,222.000	\$275,222.00	+293.2%
2	COMBS CC	NSTRUCTION COMPANY, INC.		\$125,000.000	\$125,000.00	+78.6%
3	D B A CONS	STRUCTION INC.		\$215,040.000	\$215,040.00	+207.2%
4	GRANITE C	CONSTRUCTION COMPANY		\$145,000.000	\$145,000.00	+107.1%
7370412	L.SUM	ELECTRICAL SYSTEM (REMOVE AND SA	ALVAGE POLES	AND OTHER EQUIPM	IENT)	
Bid Rank	Department	Estimate	1.000	\$70,000.000	\$70,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$258,681.000	\$258,681.00	+269.5%
2	COMBS CC	NSTRUCTION COMPANY, INC.		\$70,000.000	\$70,000.00	+0.0%
3	D B A CONS	STRUCTION INC.		\$226,120.000	\$226,120.00	+223.0%

### Printed: 7/25/2025 Page 12 of 17

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7370412	L.SUM	ELECTRICAL SYSTEM (REMOVE AND SA	ALVAGE POLES	AND OTHER EQUIPM	MENT)	
Bid Rank	Department	Estimate	1.000	\$70,000.000	\$70,000.00	
4	GRANITE C	CONSTRUCTION COMPANY		\$145,000.000	\$145,000.00	+107.1%
7370421	EACH	ELECTRICAL SYSTEM (INSTALL MMU IN	CONTROLLER	CABINET)		
Bid Rank	Department	Estimate	8.000	\$4,000.000	\$32,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$10,188.000	\$81,504.00	+154.7%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$8,000.000	\$64,000.00	+100.0%
3	D B A CONS	STRUCTION INC.		\$9,250.000	\$74,000.00	+131.3%
4	GRANITE C	ONSTRUCTION COMPANY		\$5,400.000	\$43,200.00	+35.0%
7378916	EACH	GROUND ROD (ALL SIGNAL EQUIPMEN	T)			
Bid Rank	Department	Estimate	35.000	\$200.000	\$7,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$401.300	\$14,045.50	+100.7%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$300.000	\$10,500.00	+50.0%
3	D B A CONS	STRUCTION INC.		\$760.000	\$26,600.00	+280.0%
4	GRANITE C	ONSTRUCTION COMPANY		\$310.000	\$10,850.00	+55.0%
8030092	SQ.YD.	GRANITE MULCH (1-1/4 INCH MINUS)				
Bid Rank	Department	Estimate	1,589.000	\$9.000	\$14,301.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$10.350	\$16,446.15	+15.0%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$15.000	\$23,835.00	+66.7%
3	D B A CONS	STRUCTION INC.		\$24.000	\$38,136.00	+166.7%
4	GRANITE C	ONSTRUCTION COMPANY		\$45.000	\$71,505.00	+400.0%
8080638	EACH	RELOCATE WATER METER				
Bid Rank	Department	Estimate	7.000	\$2,500.000	\$17,500.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$6,445.000	\$45,115.00	+157.8%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$6,000.000	\$42,000.00	+140.0%
3	D B A CONS	STRUCTION INC.		\$27,410.000	\$191,870.00	+996.4%
4	GRANITE C	ONSTRUCTION COMPANY		\$2,500.000	\$17,500.00	+0.0%
8080646	EACH	RESET FRAME AND COVER FOR VALVE	BOX			
Bid Rank	Department	Estimate	31.000	\$1,000.000	\$31,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$1,007.000	\$31,217.00	+0.7%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$750.000	\$23,250.00	-25.0%
3	D B A CONS	STRUCTION INC.		\$800.000	\$24,800.00	-20.0%
4	GRANITE C	ONSTRUCTION COMPANY		\$2,000.000	\$62,000.00	+100.0%
8080651	EACH	FIRE HYDRANT				
Bid Rank	Department	Estimate	1.000	\$7,500.000	\$7,500.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$5,337.000	\$5,337.00	-28.8%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$16,500.000	\$16,500.00	+120.0%
3	D B A CONS	STRUCTION INC.		\$23,900.000	\$23,900.00	+218.7%

# Printed: 7/25/2025 Page 13 of 17

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8080651	EACH	FIRE HYDRANT				
Bid Rank	Department	Estimate	1.000	\$7,500.000	\$7,500.00	
4	GRANITE C	CONSTRUCTION COMPANY		\$18,500.000	\$18,500.00	+146.7%
8080655	EACH	RELOCATE FIRE HYDRANT				
Bid Rank	Department	Estimate	1.000	\$6,000.000	\$6,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$4,431.000	\$4,431.00	-26.2%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$6,700.000	\$6,700.00	+11.7%
3	D B A CONS	STRUCTION INC.		\$13,800.000	\$13,800.00	+130.0%
4	GRANITE C	ONSTRUCTION COMPANY		\$11,000.000	\$11,000.00	+83.3%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department	Estimate	1.000	\$450,000.000	\$450,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$510,000.000	\$510,000.00	+13.3%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$520,000.000	\$520,000.00	+15.6%
3	D B A CONS	STRUCTION INC.		\$585,500.000	\$585,500.00	+30.1%
4	GRANITE C	ONSTRUCTION COMPANY		\$623,617.900	\$623,617.90	+38.6%
9080101	L.FT.	CONCRETE CURB AND GUTTER, TYPE	A (MAG DET. 22	20-1)		
Bid Rank	Department	Estimate	1,123.000	\$55.000	\$61,765.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$35.000	\$39,305.00	-36.4%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$46.000	\$51,658.00	-16.4%
3	D B A CONS	STRUCTION INC.		\$55.000	\$61,765.00	+0.0%
4	GRANITE C	ONSTRUCTION COMPANY		\$170.000	\$190,910.00	+209.1%
9080103	L.FT.	CONCRETE CURB AND GUTTER, TYPE	C (MAG DET. 22	20-1)		
Bid Rank	Department	Estimate	2,337.000	\$46.000	\$107,502.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$30.950	\$72,330.15	-32.7%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$47.000	\$109,839.00	+2.2%
3	D B A CONS	STRUCTION INC.		\$53.000	\$123,861.00	+15.2%
4	GRANITE C	ONSTRUCTION COMPANY		\$170.000	\$397,290.00	+269.6%
9080134	SQ.FT.	CONCRETE VALLEY GUTTER (MAG DET	Г. 240)			
Bid Rank	Department	Estimate	1,330.000	\$25.000	\$33,250.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$18.400	\$24,472.00	-26.4%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$27.000	\$35,910.00	+8.0%
3	D B A CONS	STRUCTION INC.		\$26.000	\$34,580.00	+4.0%
4	GRANITE C	ONSTRUCTION COMPANY		\$25.000	\$33,250.00	+0.0%
9080242	SQ.FT.	CONCRETE SIDEWALK (MAG DET. 230)	(MODIFIED)			
Bid Rank	Department	Estimate	42,196.000	\$11.000	\$464,156.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$9.250	\$390,313.00	-15.9%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$10.150	\$428,289.40	-7.7%
3	D B A CONS	STRUCTION INC.		\$14.000	\$590,744.00	+27.3%

# Printed: 7/25/2025 Page 14 of 17

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9080242	SQ.FT.	CONCRETE SIDEWALK (MAG DET. 23	30) (MODIFIED)			
Bid Rank	Department	Estimate	42,196.000	\$11.000	\$464,156.00	
4	GRANITE C	CONSTRUCTION COMPANY		\$26.000	\$1,097,096.00	+136.4%
9080286	EACH	CONCRETE SIDEWALK RAMP (SPEC	CIAL DET. C)			
Bid Rank	Department	Estimate	4.000	\$5,000.000	\$20,000.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, LL	.C	\$2,993.000	\$11,972.00	-40.1%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$4,500.000	\$18,000.00	-10.0%
3	D B A CONS	STRUCTION INC.		\$2,600.000	\$10,400.00	-48.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$4,000.000	\$16,000.00	-20.0%
9080287	EACH	CONCRETE SIDEWALK RAMP (MAG	DET. 236-3)			
Bid Rank	Department	Estimate	2.000	\$5,000.000	\$10,000.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, LL	.C	\$4,008.000	\$8,016.00	-19.8%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$6,000.000	\$12,000.00	+20.0%
3	D B A CONS	STRUCTION INC.		\$3,510.000	\$7,020.00	-29.8%
4	GRANITE C	CONSTRUCTION COMPANY		\$5,500.000	\$11,000.00	+10.0%
9080288	EACH	CONCRETE SIDEWALK RAMP ( MAG	DET. 236-4)			
Bid Rank	Department	Estimate	13.000	\$7,000.000	\$91,000.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, LL	.C	\$4,008.000	\$52,104.00	-42.7%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$6,000.000	\$78,000.00	-14.3%
3	D B A CONS	STRUCTION INC.		\$2,910.000	\$37,830.00	-58.4%
4	GRANITE C	CONSTRUCTION COMPANY		\$2,800.000	\$36,400.00	-60.0%
9080289	EACH	CONCRETE SIDEWALK RAMP (MAG	DET. 236-5)			
Bid Rank	Department		6.000	\$6,000.000	\$36,000.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, LL	.C	\$4,160.000	\$24,960.00	-30.7%
2		INSTRUCTION COMPANY, INC.		\$6,000.000	\$36,000.00	+0.0%
3		STRUCTION INC.		\$2,710.000	\$16,260.00	-54.8%
4	GRANITE C	CONSTRUCTION COMPANY		\$4,200.000	\$25,200.00	-30.0%
9080290	EACH	CONCRETE SIDEWALK RAMP (MAG	DET. 237-2)			
Bid Rank	Department	Estimate	1.000	\$6,000.000	\$6,000.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, LL	.C	\$4,515.000	\$4,515.00	-24.8%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$6,500.000	\$6,500.00	+8.3%
3	D B A CONS	STRUCTION INC.		\$3,010.000	\$3,010.00	-49.8%
4	GRANITE C	CONSTRUCTION COMPANY		\$6,300.000	\$6,300.00	+5.0%
9080296	EACH	CONCRETE SIDEWALK RAMP (MAG	DET. 238-3)			
Bid Rank	Department	Estimate	8.000	\$5,500.000	\$44,000.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, LL	.C	\$4,008.000	\$32,064.00	-27.1%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$6,000.000	\$48,000.00	+9.1%
3	D B A CONS	STRUCTION INC.		\$2,710.000	\$21,680.00	-50.7%

### Printed: 7/25/2025 Page 15 of 17

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9080296	EACH	CONCRETE SIDEWALK RAMP (MAG DE	T. 238-3)			
Bid Rank	Department	Estimate	8.000	\$5,500.000	\$44,000.00	
4	GRANITE C	CONSTRUCTION COMPANY		\$4,300.000	\$34,400.00	-21.8%
9080350	SQ.FT.	CONCRETE DRIVEWAY (MAG DET. 250-	1 & 250-2)			
Bid Rank	Department	Estimate	7,254.000	\$17.000	\$123,318.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$18.400	\$133,473.60	+8.2%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$24.000	\$174,096.00	+41.2%
3	D B A CONS	STRUCTION INC.		\$18.000	\$130,572.00	+5.9%
4	GRANITE C	CONSTRUCTION COMPANY		\$16.550	\$120,053.70	-2.6%
9080356	SQ.FT.	CONCRETE DRIVEWAY (MAG DET. 260)				
Bid Rank	Department	Estimate	5,694.000	\$23.000	\$130,962.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$15.400	\$87,687.60	-33.0%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$24.000	\$136,656.00	+4.3%
3	D B A CONS	STRUCTION INC.		\$17.000	\$96,798.00	-26.1%
4	GRANITE C	CONSTRUCTION COMPANY		\$19.400	\$110,463.60	-15.7%
9240010	L.SUM	FORCE ACCOUNT WORK (LANDSCAPE	REPAIR)			
Bid Rank	Department	Estimate	1.000	\$15,000.000	\$15,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$15,000.000	\$15,000.00	+0.0%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$15,000.000	\$15,000.00	+0.0%
3	D B A CONS	STRUCTION INC.		\$15,000.000	\$15,000.00	+0.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$15,000.000	\$15,000.00	+0.0%
9240011	L.SUM	FORCE ACCOUNT WORK (REMOVE ANI	D REINSTALL SIG	GNAL HEAD)		
Bid Rank	Department	Estimate	1.000	\$40,000.000	\$40,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$40,000.000	\$40,000.00	+0.0%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$40,000.000	\$40,000.00	+0.0%
3	D B A CONS	STRUCTION INC.		\$40,000.000	\$40,000.00	+0.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$40,000.000	\$40,000.00	+0.0%
9240012	L.SUM	FORCE ACCOUNT WORK (SIDEWALK A	ND RAMP REPLA	ACEMENT)		
Bid Rank	Department	Estimate	1.000	\$12,000.000	\$12,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$12,000.000	\$12,000.00	+0.0%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$12,000.000	\$12,000.00	+0.0%
3	D B A CONS	STRUCTION INC.		\$12,000.000	\$12,000.00	+0.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$12,000.000	\$12,000.00	+0.0%
9240014	L.SUM	FORCE ACCOUNT WORK (PULL BOX AN	ID CONDUIT REG	CONDITIONING)		
Bid Rank	Department	Estimate	1.000	\$55,000.000	\$55,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$55,000.000	\$55,000.00	+0.0%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$55,000.000	\$55,000.00	+0.0%
3	D B A CONS	STRUCTION INC.		\$55,000.000	\$55,000.00	+0.0%

### Printed: 7/25/2025 Page 16 of 17

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240014	L.SUM	FORCE ACCOUNT WORK (PULL BOX AN	D CONDUIT REG	CONDITIONING)		
Bid Rank	Department	Estimate	1.000	\$55,000.000	\$55,000.00	
4	GRANITE C	CONSTRUCTION COMPANY		\$55,000.000	\$55,000.00	+0.0%
9240111	L.FT.	MISCELLANEOUS WORK (3" RETRO-REF	LECTIVE TAPE	)		
Bid Rank	Department	Estimate	2,122.000	\$12.000	\$25,464.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$5.600	\$11,883.20	-53.3%
2	COMBS CO	INSTRUCTION COMPANY, INC.		\$23.000	\$48,806.00	+91.7%
3	D B A CONS	STRUCTION INC.		\$2.000	\$4,244.00	-83.3%
4	GRANITE C	CONSTRUCTION COMPANY		\$19.000	\$40,318.00	+58.3%
9240171	EACH	MISCELLANEOUS WORK (RADAR PRES	ENCE DETECTION	ON SYSTEM) (FOUR	DETECTORS)	
Bid Rank	Department	Estimate	1.000	\$40,000.000	\$40,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$72,685.000	\$72,685.00	+81.7%
2	COMBS CO	INSTRUCTION COMPANY, INC.		\$53,000.000	\$53,000.00	+32.5%
3	D B A CONS	STRUCTION INC.		\$60,400.000	\$60,400.00	+51.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$50,000.000	\$50,000.00	+25.0%
9240178	EACH	MISCELLANEOUS WORK (Type PB (COG	T5-19) Pole)			
Bid Rank	Department	Estimate	3.000	\$1,200.000	\$3,600.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$2,448.000	\$7,344.00	+104.0%
2	COMBS CO	INSTRUCTION COMPANY, INC.		\$900.000	\$2,700.00	-25.0%
3	D B A CONS	STRUCTION INC.		\$1,560.000	\$4,680.00	+30.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$1,100.000	\$3,300.00	-8.3%
9240179	EACH	MISCELLANEOUS WORK (Foundation (CO	OG T5-19)) for Ty	rpe PB Pole)		
Bid Rank	Department	Estimate	3.000	\$1,500.000	\$4,500.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$2,419.000	\$7,257.00	+61.3%
2	COMBS CO	INSTRUCTION COMPANY, INC.		\$1,000.000	\$3,000.00	-33.3%
3	D B A CONS	STRUCTION INC.		\$2,520.000	\$7,560.00	+68.0%
4	GRANITE C	CONSTRUCTION COMPANY		\$1,100.000	\$3,300.00	-26.7%
9240187	EACH	MISCELLANEOUS WORK (COG T8-4 VEF	RTICAL SIGNAL I	HANGER)		
Bid Rank	Department	Estimate	74.000	\$550.000	\$40,700.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$890.900	\$65,926.60	+62.0%
2	COMBS CO	INSTRUCTION COMPANY, INC.		\$1,000.000	\$74,000.00	+81.8%
3	D B A CONS	STRUCTION INC.		\$680.000	\$50,320.00	+23.6%
4	GRANITE C	CONSTRUCTION COMPANY		\$850.000	\$62,900.00	+54.5%
9240189	EACH	MISCELLANEOUS WORK (REWIRE ENTI	RE INTERSECT	ION)		
Bid Rank	Department	Estimate	6.000	\$35,000.000	\$210,000.00	
1	WILLIAM CI	HARLES CONSTRUCTION COMPANY, LLC		\$44,703.000	\$268,218.00	+27.7%
2	COMBS CO	INSTRUCTION COMPANY, INC.		\$37,000.000	\$222,000.00	+5.7%
3	D B A CONS	STRUCTION INC.		\$59,800.000	\$358,800.00	+70.9%

### Printed: 7/25/2025 Page 17 of 17

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240189	EACH	MISCELLANEOUS WORK (REWIRE	ENTIRE INTERSECTI	ON)		
Bid Rank	Department	Estimate	6.000	\$35,000.000	\$210,000.00	
4	GRANITE C	CONSTRUCTION COMPANY		\$44,000.000	\$264,000.00	+25.7%
9250001	L.SUM	CONSTRUCTION SURVEYING AND	LAYOUT			
Bid Rank	Department	Estimate	1.000	\$90,000.000	\$90,000.00	
1	WILLIAM C	HARLES CONSTRUCTION COMPANY, L	LC	\$53,371.000	\$53,371.00	-40.7%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$389,000.000	\$389,000.00	+332.2%
3	D B A CONS	STRUCTION INC.		\$84,000.000	\$84,000.00	-6.7%
4	GRANITE C	CONSTRUCTION COMPANY		\$62,000.000	\$62,000.00	-31.1%